AbifEiE

T X AT A 44 — % 2 W W B 2 JE pr
i A0 || BTE B || R B B ||
PRbERT 44 MWIERT | MER| & % MIERT | MER| & %
A B (B-A) C D (D-C)
FLIR 1,954,019] 1,629 1,407| 1,255] -374] 815| 1,228 1,225 410
PREE T 256,816 215 211 170 —45 108 130 130 22
/M T 115,621 97 86 74 -23 49 78 78 29
RG] 335,310] 280 240 208 -72 140 174 174 34
el 83,528 70 54 48 -22 35 42 42 7
Ellbait] 168,726 141 84 64 -77 71 89 88 17
iG] 166,248 139 108 85 -54 70 96 95 25
bR 116,938 98 68 54 —44 49 53 53 4
A R 8,050 7 6 4 -3 4 5 5 1
s IR 81,250 68 61 51 -17 34 50 50 16
M AT 35,169 30 17 13 -17 15 16 16 1
g 20,949 18 17 12 —6 9 15 15 6
/N 171,262 143 95 78 -65 72 81 80 8
HEN T 33,827 29 17 9 -20 15 12 12 -3
FME T 21,394 18 11 7 -11 9 14 14 5
I 13,480 12 5 3 -9 6 8 8 2
JLRI 118,811 100 74 64 -36 50 65 65 15
IR 10,108 9 3 1 -8 5 5 5 0
BRI 21,775 19 9 4 -15 10 11 11 1
R 18,786 16 13 9 -7 8 10 10 2
4 il 27,271 23 11 7 -16 12 16 16 4
il 8,448 8 4 1 -7 4 3 3 -1
=T 25,602 22 9 6 -16 11 11 11 0
T 96,925 81 58 47 -34 41 47 47 6
cllNiE 39,995 34 25 22 -12 17 26 26 9
)l 16,950 15 8 6 -9 8 8 8 0
HENTT 3,237 3 4 1 -2 2 2 2 0
7)1 20,526 18 16 11 —7 9 13 13 4
R 21,699 19 12 9 -10 10 13 13 3
BRI 47,934 40 19 15 -25 20 21 21 1
FRE 69,715 59 38 31 -28 30 39 39 9
FrE 34,077 29 26 20 -9 15 19 19 4
AR 58,456 49 34 29 -20 25 33 33 8
ASFT 58,260 49 29 22 -27 25 23 23 -2
i) 46,353 39 27 21 -18 20 16 16 —/
CEFFERR)
UL 15,985 14 13 9 -5 7 8 8 1
GRS 3,076 3 3 1 -2 2 1 1 -1
(FAHTER)
FAFITHT 7,137 6 3 1 -5 3 4 4 1
& T 4,075 4 3 2 -2 2 2 2 0
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T X AT A 44 — % 2 W W B 2 JE pr

x 0[RS B O1E B |l e Bk |

PRbERT 44 FHIERT | Al E % FHIERT [ MHIEZ | & 2
A B D | D

(_EBERR)

0PN T 4,358 4 4 2 2

A PNET 4,118 4 4 1 1

(fa HHEB)

L ARET 28,116 24 19 17 10 10

(FEBEB)

JEE SR HT 3,931 4 2 2 1 1

M7 15,464 13 10 6 6 6

(L BEER)

J\ZEHRT 16,515 14 8 3 7 7

& 7 ERHT 5,335 5 2 0 3 3

(t& (LIEB)

{LA=HT 7,564 7 6 2 4 4

= ERT 4,829 5 3 2 2 2

JEYERHT 3,850 4 1 0 1 1

(i EER)

R 3,674 4 1 0 1 1

(L PLEB)

B LR 2,574 3 3 1 1 1

(AR

B/ 72l 7,881 7 5 2 4 4

A4 lT 5,285 5 5 2 2 2

(S5 45EB)

SO 1,471 2 1 1 0 0

(FFHBEB)

FEHBHT 2,961 3 3 2 2 2

AT 2,810 3 5 1 1 1

(FERER)

o BT 4,696 4 4 2 2 2

(ht FHAEB)

=t o] 5,167 5 2 1 3 2 2

AP 2,076 2 3 2 1 1 1

W FFERAT 1,944 2 2 1 1 1 1

=il 2,201 2 2 1 1 2 2

JURBRET 3,013 3 2 1 2 2 2

{EJn 22 WY 16,074 14 13 9 7 7 7

=RGLN 3,966 4 5 1 2 2 2

NEETR LT 8,780 8 8 5 4 4 4

CENER)

LFnmT 5,855 5 5 4 3 3 3

aNET 12,474 11 11 9 7 7
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T X AT A 44 — % 2 W W B 2 JE pr

i A0 || BTE B || R B B ||

PRbERT 44 MWIERT | MER| & % MIERT | MER| & %
A B (B-A) C D (D-C)

(dEB)

AT 1,640 2 3 1 -1 1 1 1 0

PHEENAS 849 1 1 1 0 1 1 1 0

(FEPHRR)

FEPHIT 2,029 2 2 1 -1 1 1 1

(A FEEB)

el 3,081 3 1 1 -2 2 2 2

(RTEB)

{ZRHT 3,344 3 3 1 -2 2 2 2

et 18,758 16 17 14 -2 8 12 12

R AT 1,243 2 1 1 -1 1 0 0

(Z2 5 ER)

P T 7,538 7 2 1 -6 4 5 5

ZRIEVLHT 5,415 5 4 3 -2 3 3 3

AR 2,950 3 3 2 -1 2 1 1

& B PHT 10,640 9 5 3 -6 5 6 6

s BETHT 4,998 5 1 0 -5 3 2 2

P & L AT 2,465 3 6 4 1 2 1 1

(& 5EEE)

R 5,153 5 6 -2 3 4

KIEHT 10,795 9 7 6 -3 5 6 6

SR LAY 11,735 10 9 7 -3 5 8 8

(HE7EB)

HIEHT 3,161 3 5 0 -3 2 2 2

iA=L 1,840 2 3 1 -1 1 1 1

b mm=IILI 6,586 6 3 -5 3 3 3

(FH2EEB)

R A HT 2,948 3 1 1 -2 2 2 2

FRAZBIHT 2,418 3 2 1 -2 2 1 1

U HT 2,380 2 1 0 -2 1 1 1

AL EEHT 1,840 2 2 1 -1 1 1 1

A T 3,078 3 3 1 -2 2 2 2

S0 PN T 1,482 2 6 2 0 1 1 1

(EJIEB)

JE AT 6,880 6 2 1 -5 3 2 2

i) 10,257 9 3 2 —7 5 5 5

2 JpRHET 6,464 6 4 2 —4 3 2 2

LA YT 3,717 4 4 2 -2 2 1 1

gL 2,794 3 2 1 -2 2 1 1

= ITHT 3,651 3 3 1 -2 2 3 3

U I[HT 8,192 7 3 1 -6 4 3 3
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1 X HTA 4 — % 2 W W B 2 JE pr

i A0 || BTE B || EEE BT B |

PRbERT 44 MWIERT | MER| & % MIERT | MER | & 7
A B (B-A) C D (D

L BERT 9,968 9 3 1 -8 5 4 4

pES) 3,336 3 4 1 -2 2 2 2

R 3,106 3 3 1 -2 2 2 2

)1y 3,292 3 1 0 -3 2 2 2

BAFHT 6,170 6 7 3 -3 3 5 5

157K HT 9,473 8 4 3 -5 4 3 3

(BEAER)

o ey 1,427 2 2 2 0 1 3 2 1

aaill 7,882 7 5 3 —4 4 4 4 0

JEELHT 4,559 4 1 1 -3 2 2 2 0

FebolT 8,065 7 3 1 -6 4 4 4 0

(F)1IEB)

LERT 4,292 4 4 2 -2 2 1 1

BT AT 699 1 1 1 0 1 0 0

W IHT 1,510 2 2 1 -1 1 1 1

TRl T 26,716 23 15 7 -16 12 10 10

. 6,679 6 6 4 -2 3 4 4

BEERT 3,172 3 4 1 -2 2 1 1

ApBIHT 6,935 6 4 1 -5 3 5 5

(FEEEB)

HEERT 4,285 4 5 1 -3 2 1 1

(B #HER)

/NS 3,147 3 3 2 -1 2 2 2

({5 HIER)

7 BT 3,080 3 3 2 -1 2 2 2

PR 6,903 4 -3 3 3

HILLBIAS 1,162 1 4 1 0 1 1 1

(CRHER)

iz I T 2,661 3 2 1 -2 2 1 1

KIGHT 3,059 3 2 0 -3 2 2 2

SR AE T 2,302 2 4 1 -1 1 1 1

g2E 3,942 4 3 1 -3 2 1 1

CEAED)

SO AT 2,715 3 3 0 -3 2 1 1

(BGERR)

JECHiE 1 AT 3,565 3 3 0 -3 2 1 1

FRE T 1,701 2 3 0 -2 1 1 1

T SERT 8,090 7 4 1 -6 4 4 4

(FL3TEB)

FLICHT 2,478 3 3 2 -1 2 2 2




AbifEiE

T X AT A 44 — % 2 W L 2 P

i A0 || BTE B || R B B ||

PRbERT 44 MIEFT /e | & % R
A B (B-A) C (D-C)

(FILER)

G HT 2,015 2 2 0 -2 1 1

L E LR 2,485 3 4 2 -1 2 0

(HEERR)

R ZEHT 7,171 6 4 1 -5 3

e 19,434 17 10 8 -9 9

ALl T 4,679 4 1 0 —4 2

(EHEER)

AH LT 11,515 10 3 2 -8 5

15 BT 4,072 4 2 1 -3 2

/N ZKHT 4,847 5 1 0 -5 3

(H = EB)

ElERSLD 4,967 5 2 1 —4 3 2

& AT 2,890 3 1 0 -3 2 1

e = [ T 5,148 5 2 1 —4 3 3

(BRI EB)

1 T 19,752 17 14 9 -8 9 0 0

E= UL 8,720 8 3 1 -7 4 3 3

I 2,574 3 2 0 -3 2 1 1

L ER T 3,770 4 0 0 —4 2 2 2

75 B AT 1,095 1 2 1 0 1 1 1

BT 4,442 4 2 1 -3 2 1 1

(HERER)

Hg T 2,490 3 1 0 -3 2

(HZER)

EE=) 16,840 15 6 3 -12 8

(i AR)

EREL 12,010 11 7 5 -6 6

ST 5,023 5 2 1 —4 3

Cor it ER)

B penil 5,512 5 4 1 —/ 3

(FNEB)

HOTEH T 922,427 19 17 8 -11 10

(HRTER)

GERGILIN 12,353 11 9 5 -6 6

(BRIELER)

ER{EUET 4,289 4 3 1 -3 2

(M2 SR EB)

ZOHHT 4,677 4 3 0 —/4 2

(7] HUER)

BT 44,385 37 20 15 -22 19
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T X AT A 44 — % 2 W W B 2 JE pr

i 0|V BTE B || EEE B K ||

PRbERT 44 MWIERT | MER| & % MIERT | MER| & %
A B (B-A) C D (D-C)

T 6,131 6 2 0 -6 3 3 3 0

= R AT 4,982 5 3 2 -3 3 2 2 -1

JzREL 5,381 5 3 1 -4 3 2 2 -1

(] PEER)

IEEMT 18,566 16 4 3 -13 8 9 9 1

HRELN AT 3,929 4 3 1 -3 2 2 2 0

FORIAT 3,157 3 2 1 -2 2 1 1 -1

(A ZER)

AT 5,584 5 3 2 -3 3 2 2 -1

N 6,774 6 6 2 —4 3 3 3 0

(& ZEB)

Fsaaull 6,852 6 3 2 —4 3 3 3 0

Bzl [T 2,378 2 4 1 -1 1 1 1 0

(HBEEB)

JHIMR AT 4,706 4 4 1 -3 2 2 2 0

(HIFEER)

HIl % T 19,674 17 10 8 -9 9 9 9 0

(EEEB)

J2 T 9,264 8 2 1 -7 4 5 5

Je T 5,848 5 2 1 —4 3 2 2 -

I _EER)

FEARHT 7,558 7 2 0 —7 4 3 3 -1

251 JE T 7,187 6 6 4 -2 3 3 3 0

(Br[ZEEB)

EBJEAT 2,517 3 1 1 -2 2 1 1 -1

(EBEER)

BT 7,822 7 6 4 -3 4 4 4 0

(BFHLER)

BERT 15,013 13 6 2 -11 7 4 4 -3

(FEHLER)

W T 23,274 20 8 5 -15 10 10 10 0

P RT 5,280 5 2 0 -5 3 2 2 -1

(HALEB)

FEFAT 5,016 5 2 1 —4 3 1 1 -2




